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QUESTION 1

To configure a client to properly log in to the user portal using a certificate, the Administrator MUST: 

A. Create an internal user in the admin portal. 

B. Install an R71 internal Certificate Authority certificate. 

C. Create a client certificate fromSmart Dashboard. 

D. Store the client certificate on the SSL VPN Gateway. 

Correct Answer: A 

 

QUESTION 2

You use the snapshot feature to store yourConnecterSSL VPN configuration. What do you expect to find? 

A. Nothing; snapshot is not supported inConnectorSSL VPN. 

B. The management configuration of the current product, on a management or stand-alone machine 

C. A complete image of the local file system 

D. Specified directories of the local file system. 

Correct Answer: C 

 

QUESTION 3

What is the behavior of ClusterXL in a High Availability environment? 

A. The active member responds to the virtual address and is the only member that passes traffic. 

B. The active member responds to the virtual address and, using sync network forwarding, both members pass traffic. 

C. Both members respond to the virtual address but only the active member is able to pass traffic. 

D. Both members respond to the virtual address and both members pass traffic. 

Correct Answer: A 

 

QUESTION 4

You configure a Check Point QoS Rule Base with two rules: an HTTP rule with a weight of 40, and the Default Rule with
a weight of 10. If the only traffic passing through your QoS Module is HTTP traffic, what percent of bandwidth will be
allocated to the HTTP traffic? 

A. 80% 
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B. 50% 

C. 40% 

D. 100% 

Correct Answer: B 

 

QUESTION 5

When restoringR76using the commandupgrade import, which of the following items are NOT restored? 

A. Global properties 

B. Route tables 

C. Licenses 

D. SIC Certificates 

Correct Answer: B 
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